A
WESTMANN

MONTAGEANLEITUNG
Gerdatehaus




Q:\‘\CX(\
% l
130cm

Area of installation requirement:

141cm ~
A
/ \
/ | \
W\
. \\ \\ i
\
147¢m

222cm

_ 133cm _







NO. IMAGE | mm | QTY NO. IMAGE | mm | QTY
UNDER ZX-8 =—— X2
ZX-A1 1265 x1 ZX-10 (e x3
ZX-A2 g 1265 x1 ZX-11 = x4
ZX-A3 2074 X2 ZX-14 &= X2
ZX-Ad . 1178 x1 ZX-15 e X2
MIDDLE M-23 N X2
ZX-A5 L. 1437 X2 ZX-A40 fm-  ST4.0x10| x131
ZX-A6 [ 1437 X1 ZX-A41 > M4x10 | x51
ZX-A7 ) 1437 X1 ZX-Ad2 ® o Md4x10 | x12
ZX-A8 — 1437 X2 ZX-A43 - IST4.0x12| X6
ZX-A9 | —————— | 1437 X7 ZX-Ad4 e IST4.2x13| X4
ZX-A10 T 1280 xi ZX-A46 e M5x12 | x6
ZX-A11 U 1280 xi ZX-A47 M5 X6
ZX-A12 I 2071 xi ZX-A48 ™ [ST6.0x40| X6
ZX-A12a 2071 xi ZX-A49 x83
ZX-A13 C_ 1280 x1 ZX-A50 ] 2054 x1
ZX-A14 O, 1280 xi ZX-A51 A x1
ZX-Al4a [, 1280 x1 ZX-A52 f X1
ZX-A15 N 1280 x1 ZX-A53 /s 2030 x1
ZX-A30 1408 x1
ZX-A31 1408 xi
ZX-A18 2130 x1
ZX-A19 2130 x1
ZX-A20 T 1329 x1
ZX-A20a —C 1240 xi
ZX-A21 J 1327 xi
ZX-A22 2216 x1
ZX-A23 F 2216 X1
ANNEX
ZX-1 = X6
ZX-2 )
ZX-3 = )
ZX-4 X2
ZX-5 Tl X2
ZX-ba T X2
ZX-5b = X2
ZX-6 NS x1
ZX-7 57/ x1




JL

ZX-A1 xi

==

ZX-1 x4

-
ZX-A40 x20

| —— s G?Q
ZX-A5 x1 ZX-A8 x1 ZX-A9 x1 ZX-A40 x4 ZX-Ad1 x2 ZX-A49 x6
ZX-A8 ZX-A9




——"

ZX-A8 xi

(-

ZX-AM0 x4

ZX-A41 x2

ZX-M9 x6

™

—

I

ZX-A7 x1

(pone-

ZX-A40 x2




ZX-A40 x2

W |

|

3

u

ZX-A11 x1

ZX-3 x1

ZX-A40 x4




(-

ZX-A40 x4

e

=
4

ZX-A1

\ my

s Qy@
ZX-A9 x2 ZX-A40 x6 ZX-Ad1 x2 ZX-A49 x8
=H =
2X-A9 ZX-A9
il o]




® ™
ZX-A10 x1 ZX-A41 X2

S
ZX-A12 x1 ZX-At2a x1 ZX-A41 x12

i




(-

ZX-A40 x12
X1
1 ? \ 2
—_—
—_—
(o> ng
ZX-A40 x4 ZX-Ad41 x6 ZX-A49 x6
M
—
DI
ZX-A9 H
@
-
-’
-




® — - ¢

ZX-A9 xi ZX-A40 x4 ZX-A41 x6 ZX-A49 x6

AR
ZX-A?_/T
ZX-A9 =

(D
= § .‘:
D 7X-A9
@
o
>
'y
2X-Ad |
{ o Qy@
ZX-A40 x4 ZX-A41 x6 ZX-A49 x6

ZX-A8 /| ! ZX-A9 I ] ZX-A8




(-

1! a
ZX-5a x2 ZX-6b x2 ZX-A40 x12
BT
pait .
vl —
L,
"j~ T
1 |
XA |
C, L. [ o°
ZX-A14 xi1 ZX-A14a xi ZX-A15 xi ZX-A41 x8

fi
»
o)

I

S —

Sk

i 0
T = ium H\\.\
j”ﬁfffﬁff, Z y
2 .
y .l
N DL




A

ZX-A51 x1

f

ZX-A52 x1




g

ZX-A46 x4

ZX-M7 x4

)

(T

11T
@ilhln\

Mz
il ”'l’/lmlll

! W

S

ZX-A53 x1

g

ZX-A46 x2

ZX-A47 x2




—

T




(-

ZX-A40 x12

ZX-A49 x12

(-
ZX-A19 x1 ZX-A40 x14 ZX-A49 x14







%

ZX-A21 x1

(-

ZX-A40 x3

¢
ZX-A41 X3

ZX-AM9 x3

gois s sy oy

G L Y4 Y /
AY

///’t.)/;/l/ ' I S

47, 4
|\~\\\‘I\I§/~§""/l
v

——

(hone-

ZX-A40 x6

ZX-A49 x6




ZX-A43 x6

X1 x2
T ¢ ¢
¢
¢ ¢ ‘
¢ ¢ ‘

ZX-A44 x2

7

ZX-7 x1

NS
ZX-6 x1

ZX-A30 x1

2

L



| | | —~ - =
ZX-A31 x1 2X-8 xi ZX-Ad4 x2 X1 x2
¢ s /4 ¢ s |
RS ]m Ad L
) 4 X1
L] o
ol It ol ]
¢
¢ [ ¢ 4 s
IRAIN ' IRAIR . |
%. | \
= % D o
ZX-14 x1 ZX-15 x1 ZX-A42 X6







M

ZX-A48 x6




	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)
	Avocado-A说明书2024-09-20 Model (1)

